NSN 2010-01-178-3039 AeroBase

Removal Kit Parts Kit - Page 1 of 1 » Group

View Online at https://aerobasegroup.com/nsn/2010-01-178-3039

General Description:

Steel, consist of p/n 46296e478 16 dummy bearings; p/n 46296d490 1 bracket support; p/n 46296e496 1 bearing wrench; p/n 46296d534 1
jack screw support; p/n 46296d539 2 bracket support; capscrew 7/8-9 unc-2a by 4.0 Ig 2; capscrew 7/8-9 unc-2a by 4.5 Ig 2; capscrew
3/4-10 unc-2a by 2.2 Ig 2; p/n ms27183-23 4 flat washers; capscrew 5/8-11 unc-2a by 1.5 Ig 4; capscrew 3/4-10 unc-2a by 3.7 Ig 2; capscrew
7/8-9 unc-2a by 1.7 Ig 2; flat washer an960-1216l 4

Shelf Life:

N/a

Unit Of Measure:

Demilitarization:

Yes - demil/mli


https://aerobasegroup.com

